Ku-BAND SATELLITE ANTENNA

SK55-WT7. 1 OFFSET
(SK55-WT7.1 : f£/d=0. 64)
NO ITEM DESCRIPTION | QTY
1 | Reflector 550 1
2 | Feedhorn Clip 1
3 | Feedhorn Supporter | 30X15 1
4 | Bolt M8X16 4
5 | Nut M6 6
6 | Bolt M6X45 2
7 | Reflector Mount 2
8 | Bolt M6X30 2
9 | Adjustive Clamp 1

10 | Pipe Clamp 1
11 | U-Bolt M8 1
12 | Stand Pipe 32 1
13 | Nut M8 6
14 | Anchor Bolt M8X60 4
15 | Plastic Cover 1
16 | Plastic Cover 1
17 | Bolt M6X40 2
18 | Washer 6 2




